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/V6,�ì (100) ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ãÎ 08 ÎZÑ]�ÔZk~Ð¤(̈DÃÃð 10 zZzw~ .1
(8 x 5 = 40 Marks) �Z]��X 05 CÙÎZwÆa

/V6,�ìX (250) ÎZw»�Z[�bìXÎZw»�Z[½ãeJðÎ 03 ÎZÑ]�XZk~Ð¤(̈DÃÃð 05 z�zx~ .2

  (10x3 = 30 Marks) �Z]��X 10 ÎZwÆa

zZzw

qgzfs6,Zq--â^ÉÀ�/õGX .1

(Functions) ÆZdw Operating System (a

(Types) ÆZlx Operating System þþ (b

�,X Differentiate~ Kernels Hì?Z Kernel .2

VwÆ�B,Ð7�,X Algorithms qgzfs .3

Worst Fit (c Best Fitþþ (b First Fit (a

Æfg=��X Diagram Ã�s Demand Paging Hì? Paging .4

6,Zq--â^ÉÀ�/õGX RAID .5

Æ�BÒy�,X Diagrams Åz�s#o�& Allocation Methods ~& File  System Implementation .6

6,Zq-âK̂X Process States Hì? Process Control Block (PCB) .7

Å,o�&VßVÆ�BKX Resource Allocation Graph Hì? Deadlock .8

Ã Physical Memory 7�ZìX Fault ZY6,̈g�,X�Ûn�,��~Ãð 2-level Paging Æ�B TLB .9

» TLB ZEw�D�XZ¤/ 20ns �ä~ Access Ã TLB ZEw�D�Zzg 100ns �ä~ Access

H�Ç? Effective Memory Access Time Â 80% ìX Hit Ratio

qgzfs6,âK̂X .10

File Operation (c File Attributes (b File Type (a
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z�zx
� C,9 � Resource Type B,6 � Resource Type A 6,̈g�,X Processes J- P3Ð P0 .11

qgzfsìX Snapshot 6,Ä» Time T0 X�Ûn�,� 9� D,6

Process Allocation Max

P0 2 3 2 3 3 4 4 5

P1 1 1 0 2 2 2 2 2

P2 1 2 0 1 1 2 2 1

P3 0 1 1 0 2 2 4 3

�,X Solve qgzfsÃ
Need Matrix (b) Available (a)

¤/Z.$HYYì? ImmediateÃ P3 <1,1,1,1,> H (d) Safe Sequence (c)

6,̈g�,X Page Reference String qgzfs .12

1, 2, 3, 4, 2, 1, 5, 6, 2, 1, 2, 3, 7, 6, 3, 2, 1, 2, 3, 6

» Page Replacement Algorithms Å®Z�¥x�,Xqgzfs Page Faults �Â 4 Page Frames Z¤/
�,X Calculate Å®Z�Ã Page Hits Zzg Page Faults ZEw�D�ñ

ÅMð CPU Burst Time Zzg Arrival Time 6,̈g�,T~ ProcessesÆCPU fs~�ñ� .13

~ìX Millisecond

Process Arrival Time Burst Time

P1 0 10

P2 1 8

P3 2 15

P4 2 7

�,X Calculate Ã Average Waiting Time fs~èÃgZZÏgíÆ_.
SJF (b) SSTF (a)

Round Robin, Time Quantum 2 ms (d) FCFS (c)

Requested Tracks ìX DIsk Å 200 Cylinders 6,ìX�Ûn�, 100 °ZÒw Disk Cylinder �Ûn�,� .14

ñßw�IX Requests ~qgzfs~ Disk Scheduler

55, 58, 39, 18, 90, 160, 150, 38, 184

�,X Calculate Ã No of Cylinders Travelled ÃZEw�Æ Disk Scheduling Algorithms qgzfs
~MÐ(,|gì�X Increasing Order �V6, Disk

C-Look (e) Look (d) C-SCAN (c) SCAN (b) SSTF (a)

qgzfs6,Zq--âK̂X .15

Sleeping Barber Problem (b) Producer Consumer Problem (a)
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